* TLARFEBDBATICAEYMS T TEET,

* Adhesive rubber feet in cluded.

R AZ / Components

No. ¥ / Part name | 8 / Pcs #E / Material - REALE / Color-Finish
1 ZAavkRIL 1 7 JLEHR A1050P ATFAVYNIN =T WAL, ATFTAVT F9IT NI
Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 YT 1 7 ILEAR A1050P YN =T LRAL, 753997 WA
Rear panel Aluminium A1050P Silver anodized , Black anodized
3 HARIL—L 2 TV A6063S-T5 TV TIIEE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
4 JAavkILb—L 2 TIVEHRH A A6063S-T5 TV-BE ThBE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
5 YFIL—L4 2 TV A6063S-T5 YN=TFI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
6 _EHsX—/ Top cover 1 7 JLEHR A1100P / Aluminium A1100P | 34 My L—3%E | 75993 % / Light gray painted , Black painted
7 T 5H/3— / Bottom cover 1 7 ILZHR A1100P / Aluminium AT1100P | 34+ L—#%E | 7'5993F % / Light gray painted , Black painted
8 a—F—Jnavy 2 FIEH ¥R ADCI2 U 7R
Corner block Diecast aluminium ADC12 Gray painted , Black painted
9 V724—k 2 BIAMEABSHIRE ULI4V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 T L2 / Rubber feet 4 R4 / Polyurethane 779 / Black
" HAFE R (M4 x 6 H5) 4 #% ={fiyns—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 HAFTER (M4 x 8 +R) 8 % =ffni—+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 EATE R (M4 x 10 781 UR) 4 % =f@Rsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate

BREUINTFEMTE

G/ Title

F—=IWTFILIVARTLF—R

o]

4%k (2FRKEDO) / Color type (End of product number[]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
SL% / Code /3L / Panel EThN—/ Top * Bottom cover HAKIL—L / Side frame &8/ Approved 1%/ Checked #[X/Created 1% /Product number RIE/Scale
G < JLsN— / Silver SArJL— / Light gray 5'L— / Gray M088-21-3501
B J59% / Black J5v% / Black J5v% / Black T (320 i\ s
BS 2 LIN— / Silver 7594 / Black 594 / Black {ER B /Date 2018/01/25




< B-B(1:4)
° )
N
o
o
N
180

M

m

B AR —1L1 / Side framel

88

6.1

m il
™
(o]
£
©
3
=
————————————————T 1J7 2L —1s1 / Rear framel +Tq
. ¥
35 A-A(1:4) s R C-C(1:4)
| | %Ej%
J0kIL—L1 / Front framel BT / Max dim. 325 A 5% / Max dim. 189
210 )7L —L2 / Rear frame2
A 8
——= | ' |
| ~ 0
| ~ ~
B
— —7
— A HARIL—L2 / Side frame2
183 180
20 k7L —L42 / Front frame2
O O
G/ Title
206 TAKACHI) HX|HshFERTE A LTI RT L —2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
Iﬁl © IE =/Approved | 1&R|/Checked | ®I[E/Created | Z%/Product number RE/Seale
i = MO88-21-3501 14
E Bt ) s
EFLE /Date  2018/01/25




0> k/\RJL / Front panel

$~F3% / Max dim. 72

75
*

S}

H#h~ti% / Max dim. 180

/X)L / Panel Frontside

1)7 /32 J)L / Rear panel

$~ti% / Max dim. 715

7
*

]

H#h~ti% / Max dim. 180

J\F~JLEKE / Panel Frontside

REE—MA

Surface protective film side

ANTIMVHR

Hairline brushed direction

RS —HMA

Surface protective film side

183

78

/X3 JLEMH / Panel Backside

188.5

77.8

JNRJLEE / Panel Backside

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

738 /Approved

X/ Checked

T

X /Created

A

FIF /Product number

H88 - W210

RE/Scale
1:15

YERL B /Date 2018/01/25




317.5 10

2-g5 4-ga5 s -~
o ¢ © Aé - 12 LS
702 MME| / Front side 2 S g 3|2 L?
s L W8 — =
— - i = —

HARKIL—L1 / Side framel
35 2375

,
5
B
g
-
o

B2 M| / Front side |'I;l|

,.
3
4
o
=
>
A

HARIL—L12 / Side frame2

4/ Title
ERAGH) #stsnr @I | pqion i o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
752/ Approved %[/ Checked #[/Created 24 /Product number RIE/Scale
H88 - D350 1:35
£ e 48
1ERLH/Date 2018/01/25




30

R4
o |
N
O O
_ =4
2-M4RH 57} 782 kIL—1I\1 / Front framel

2-M4 Countersunk

AV RIL—L2 / Front frame2

am/Title
[TAKACH]) #st=itsnF BT IOUkIL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Front frame
7R/ Approved 18X/ Checked X /Created FIF /Product number RE/Scale
w210 12
£ Eaza) 5/ 8
1ERLH/Date 2018/01/25




20

191

EPATC

s

M4

! !

)7L —.\1 / Rear framel

! !

1J77L—1.2 / Rear frame2

G/ Title
TAKACHI) #XaitanFE@TE YFIL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
A2/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W210 1:2
Es E3Z o
B /Dae  2018/01/25 678




6.75

1.5

3195

m—

179.5

206.5

R4.5

15.5

HZ~ti% / Max dim. 287.5

H3h~Ti% / Max dim. 189

12

6.5

am/Title
TAKACHI| #HXR#ShFEHTE Fha— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 8/Approved X/ Checked X /Created | E!F/Product number RIE/Scale
W210 - D350 1:25
x Eaza) 7,8

{ERL B /Date 2018/01/25




6.75

1.5

3195

m—

179.5

206.5

R4.5

15.5

HZ~ti% / Max dim. 287.5

H3h~Ti% / Max dim. 189

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Mm%/ Title
Thi—

Bottom cover

o]

7R/ Approved

%[/ Checked

T

R/ Created

A

24 /Product number

W210 - D350

RE/Scale
1:25

{ERL B /Date 2018/01/25




